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Product information
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/ Consumer type

M=
Product Name

-
=

HE 2B & SEXF(Gimbap & Korean Black raspberry wine)

HZAHSELA)
manufacturer

SOHEAY), T2

ANS FARIE
Similar products on the
market

¢+ MZY Product name :
Sushi Maki

¢ HZAF manufacturer :
Carrefour(Sushi daily)

¢ HE=3D0F TOHOLA
Selling price in the country :

5.90 EUR

DUEAE S8 2Rt L S

Date of consumer’s survey and numbers of respondents

=N EM
Date of survey

7E 17¢ ERd

Number of respondents

ol ke
Gender Age
male 8¢ 20s : 2 / 30s : 5/ 40s+ : 1
female 129 20s : 3/ 30s : 6/ 40s+ : 3
HZ O (1) / Product evaluation
&5l
TJRIXICH JJ&K| |dCH E20ICt TJ=CH 0 I=CH
Strongly Disagree Neutral Agree Strongy agree
disagree
WIIX 8= oo 189
Package preference
Al XN O|A
AA & og 5% 15
Impression before eating
Al S IH
AI.—. 2 3o - 009
Evaluation after eating
Hory ot 8oy 79 59
Naming evaluation
JEI B 203
Productivity evaluation
A= =Rl 5% 7% 8y
Price evaluation
HZ Ol (2) / Product evaluation
B3I X &k /A AlPh
CIxtel (Flavor/ (Food o Horgl ot a9
(Package (Taste) | (Naming) | (Price) (Other)
) Scent) | texture)
design)
;JE—E. Q:EI (179) 179
atisfying factor
Eo= Qol (32) 39
Unsatisfying factor




24 / Supplement and comprehensive analysis
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H & / Future plan

T ik s R
70— 0 5 M~
GO N~ =< B
K Ju =
_ oL T MO
S K . |ar =
o ) = 00
oW 3|
Sw® L Swg
_ AR mﬁ o
o Uk | 1
W m | YRS 5
W a5 W
3 T TS
R o= o
) | = z) S Al
Kl _ __o._ K oK x_=_
& o | X I —
e <& |~ WS g
3 <=2 oF @
iy iy ~ 30 g
o) - i = =1 0
() D
w3 | W2
xr I 55 | W0 of A
E=IT) IS w1
u . W<z
=5 W) =&z O
W WP o
= 2|l KI W =
_ A4S o
[a) w o o R 0|
2 I (|
= 0l TR 0 O
= o TR 3T
A E2E|< 08
s §| ¥ 8
) e o m_.c o
H3s| %gs
= g
Mo & € B =2
® 2 = 8
a T S




